
You need to solve two steps to answer each
question. You might need to add or subtract.

Write your final answer in the box.

Name:......................
Date:........................
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Math in Motion:Math in Motion:

Word ProblemsWord Problems

8 students are jumping rope. 5 more
join. Then 2 go to the swings. 

How many are still jumping rope?

A swing set has 10 seats. 6 are taken.
Then 2 kids leave. 

How many seats are free now?

14 cones are set up for games. 5 fall over.
3 are fixed.  

How many cones are standing now?


